SE

What is the question asking? What strategy will you use to
What information is important? solve the problem?

sentence.

~r

A farmer has three different hen houses.
One hen house contains red hens, the
second black hens and the third white

hens. Every day the red hens lay five eggs,
the black hens lay eight eggs and the white
hens lay three eggs. How many days will it
take for the hens to lay a total of 80 eggs?

_ 1= _ /{_ Write your answer as a complete Attack the problem!

Do the maths!




